


2. (-3x-2)* & d7lshd?

@ 3x24+2x+2 @ 3x24+12x+2 @ 9x24+2x+2

@ 9x24+10x+4 (@)9x2+12x+4

(=3x)2 + 2 X (=3x) X (=2) + (-2)? = 9x2 4+ 12x + 4




3. (x+3y)(x-3y) & HI/N5tH?

® x-3y @ x? - 3y? ((@)62—9)12

@ x2+9y? ® 2x2 - 9y?

x2 = (3y)% = x2 - 9y?
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O {(x+y) -2} {(x+y) +2}
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® {(x-2) -y} {(x-2) +y}
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(x=1)2=(2x+1)(x—4) =Ax®2+ Bx+CQ ©], A= A, B, C 9

A+ B+ C9 &2
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(x=1)2=(2x+1)(x—4)
=(x*-2x+1)—(2x2 - Tx—4)
=x*-2x+1-2x2+Tx+4
=—x*+5x+5

A=-1, B=5, C=5
“A+B+C=-14+5+5=9
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(2x-a)P =4+ 12x+b LW, a+b G2 (H a, b=
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a+b=(-3)+9=6
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@ xy+4x+ 3y @ xy+3x+ 4y

@ xy+3x+4y+3

@ xy+4x+3y+4
@x)’+4x+3y—|—12

(x+3)(y+4) =xy+4x+3y+12
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x(x+2)(x—3)(x—5)

= {x(x = 3)H(x +2)(x - 5)}

= (x? = 3x)(x% - 3x - 10)

x% = 3x =t 2 A ZSHH #(r - 10) = 2 - 10t

t=x* - 3xE At Aot x* - 6x° - x? + 30x
w2t g+ b+ c = -6 -1+ 30 = 23°|t}.
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(12x% — 4x) + (-2x) = —6x + 2 = -4 O] B2 x = 1 o|t},
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—(3x%y — 9xy?) + 3xy
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~(3x%y — 9xy?) + 3xy - oy
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13. 2x(x-1)-3x(2x-3) — (-7x*> + x - 2) & 7IHo] 5HH?

@3x2+6x+2 @ 3x2-6x+2 ® 3x%+6x-2

@ -3x®>+6x+2 ® 3x2-6x-2

2x(x—1) = 3x(2x - 3) = (=7x* + x - 2)
=22 -2 — 62+ 9x + x> —x+2
=3x2+6x+2
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a =311 °J2} 5},

311 x 311 - 310 x 312 -2
=axa-(a-1)x(a+1)-2
=a’>-(a®-1)-2
=a’?-a?+1-2=-1
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® 912 > (a+b)? = a® + 2ab + b?

@ 597% - (a-b)? = a® - 2ab + b*

® 103% - (a +b)? = a® + 2ab + b*
@)s84x75 > (a+b)(a-b) = a® - b?
® 50.9%x49.1 - (a+ b)(a—b) =a® - b*

ol-&

@ 84 x 75 = (80 +4)(80 - 5)
(x+a)(x+b) =x*+ (a+b)x+ab




2011 2 x 2 5to] FA FA]2 0]-83519] 2010 x 2012 - 2009 x 2011
A 4SHH?

® 4000 @ 4017 ® 4019 @4021 ® 4023

B ~
2011 = x 2} StH
(x=D(x+1)-(x-2)x
=x*-1-x>+2x=2x-1
=2x2011-1= 4021
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(4xy — x%y = 3xy®) + S xy
= (4xy - x%y - 3xy?) + &2
= (4xy — xPy = 3xy?) x —
Xy
=8-2x% -6y
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2a-b 3
a+b 2
4a —2b = 3a + 3b
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21. (x4+A)(x+B) & AMNSFAEY x* + Cx -3 °] H At th= 5 C 9
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(x+A)(x+B)=x>+(A+B)x+AB = x>+ Cx -3 °|BE&2
A+B=C AB=-3°ltf. tfA C=(1-3, -1+3, 3-
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(3x + a)(bx + 5) = 3bx* + (15 + ab)x + 5a
3bx? + (15 + ab)x + 5a = 6x% + cx — 10

3b=06 SLob=2

5a = —10 Soa= -2

154+ab=c, 15+ (-2)x2=15-4=11
L c=11

wa+b+c=(-2)+2+11=11
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Metd= x> A AFE A, x 2 AFE B,

(x-2y-1)(x-2y-1)
=x2-2xy—x-2xy+ 42 +2y—x+2y+1
=x>—dxy+4y® -2x+4y+1
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(44_24)(44+24)(48+28)(416+216) (432+232)
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x_|_y:3, xy:20é[q1,x4+y49’]%):%?

@ 15 @16 @7 @ 18

P =(x+y)?-2xy=32-2x2=5
Loyt = (P +)°)? - 2(w)? =25 - 2x4 =17




